njo
awen dwng - spiogn) pue sagn) JO 3WN|OA

wdg'¢
woz
wd
wE W6 . v
wol wop el = 2WIN|oA = SLUN|oA
SWIN|OA WISz wdQ|
wdg'e
wno | sc'p wd¢g
_ wl
= 9WN|OA wol M
waQ|
< _ . 0
= dWIN|OA wng|
¢Wd000 79 wool gWDG9 | = 3WN|OA
= 3WIN|OA wol | — aWn|oA wog
r wos
wd
Wz was
. = aWnN|oA was'z
PS'L WG _
X =X
widg s .
= aWn|oA wog £wd0008 WS, SR
_ wo| =
ez woC = aWN|OA _ swnpop woazl
widt
- 0
wog | | = SWNIoA - swIn|oA woe
widty
woy wdQ |
wng widy
wdge
— aWn[oA = 3WIN|OA
X _x wde'0 = 9WIN|OA wg
- = 9WN|OA woQ L
w0001 wng
= dWN|OA

'SpIogNd pue sagnd ay) JO SWN|OA 3] pul-


Find the volume of the cubes and cuboids.




